GRIP BOLTS

R ZBE

No.E-9325

N SCMA40 (Thiwad: BREes) IS & KHRC3515

EEaEpEts:]

O B TR IR BE,

OLEANf, THRFEIEEE.

/\ .
N 1
PE C
D
WG

iTEs S A (f87F) B @ D E F Eig
950786 GBM0612 M 6X1.0 12 5 10 7.9 2.3 6
919819 GBMO0625 M 6X1.0 25 5 10 7.9 2.3 5
950787 GBM0812 M 8X%X1.25 12 6.4 13 9.5 3 10
919820 GBMO0825 M 8X%1.25 25 6.4 13 9.5 3 15
950788 GBM0835 M 8%1.25 35 6.4 13 9.5 3 17
950789 GBM1012 M10X1.5 12 8.3 17 12.7 3 25
919821 GBM1025 M10%X1.5 25 8.3 17 12.7 3 30
919822 GBM1040 M10X1.5 40 8.3 17 12.7 3 35
919823 GBM1225 M12%1.75 25 8.7 19 15.9 3 35
919824 GBM1240 M12X1.75 40 8.7 19 15.9 3 50
919825 GBM1635 M16X2 35 11 24 19.1 3 85
919826 GBM1650 M16X2 50 11 24 19.1 3 105
919827 GBM2040 M20x2.5 40 13.7 30 25.4 2.3 160
919828 GBM2060 M20X2.5 60 13.7 30 25.4 2.3 205

AEER THCADHE. HITEFTIA,

fi& F 51

R TRFHH

EMLTTH



